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IR SBR , mm v 15 30mst, v
25m-s ! , ds
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, Qi1 =fCiLy
=3x0.38x285
=324.9 (kg-h™ %)
, Q2 = nfCyL>
=34x3x0.14%x10
=142.8(kg-h™ 1)
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C—— , m——
kg (h-m) ~*; , m=15;
A—— , S—— ,kg-h'l;
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0, : =34x62.08
E— ; =2111(kg-h™ %)
H—— kJ- kgt 10% 20%, 15%
P=0.80 MPaf,=30 8,=178 , (5) ,
E=75% |, A Qs=1.5x2 111 x0. 15
u ( 1 = 480(kg-h" ")
L Qz = CiL1+ nCoLo+ nW +aSs
— ’83“““ —— =0.38x285+34x0.14 x 10 +
A/(m:m-Y)  0.105 0.151 0.190 0.278 0.359 0.444 34x62.08+0.15x2 111
Ul [k (M2 k) Y =2583.27(kg-h™ 1)
73.5 69.5 67.5 63.5 58.5 55.0 1.3
1 4,
(c) (C2) . e | |
C; =0.359 x58.5x (178 - 30) x k 0.5,
(1- 0.75)/2 0_2?.5 40 100 mm
=0.38 [kg- (h-m) "] 0.0485 0.035
C, =0.105%x73.5x (178 - 30) x
(1- 0.75)/2029.5
=0.14 [kg- (h-m) "] O ]
(N Dy= 0.006 38\ G B hy,)  (6)
3, (L) 285m, AN — ;
(L2) 10 m G— e
01, Q, A hy kg (m*m) " *;
Q1 Q2 Yo kg-m”?,
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958.4 kg-m”3; ,
G=1.5Q2z=3.87(t) (3)
A hy
A hy=100000 P/[1.15(L,+ Ly ] (7) (4)
Ap——1o ,MPa; ,
L. Lqg , ,
185 m ) )
0.3 MPa,
20 % 20 % Ap
, 0.06 MPa 2
(7) , : ,
A hy =10 000 x 0. 06/ (1. 15 x 185)
= 28.2[ kg (m?- m) ~ 1] DPT-312ARP ,
(6) . :
Dy '
Dy = 5»/0.006 38 x0.04 x 3.87%/ (28.2 x 958. 4) ’
=0.042 7(m)
15 ' ’ 0.25 MPa,
Dy 80 mm ! h
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) 5. 4 , 0.8 -t %,
/ 1.5
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812 Dn40 &3/ 16 773 2 4.85 ’
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3
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